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Use substitution to verify (5-2i) is a
solution to the equation ,2,-9_10x

?
(5-2)"+29 = |0(5-20)
7 (]
(5-20)(5-20) +29 = 50-20¢
@-&iﬂi@@if;‘o-zo@

90-201 = S0 -2
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Warm Up:

QUICKLY determine the number and type of solutions

for this equation.

2x% —12x+26=0

Note: You should NOT find the solutions!

Discfiminot: b= Y0

G-4ei2y < 0
S0l (me\ex Sol.
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Ex#1: Graph y <_2_)c2 -12x+26

\I-U( +ext 3 -:

20-3) t2b
\8-3!a‘r2(o< 8 | A .
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Ex#2: Solve (x> +2x-8=0 FDY \A)hﬂ\"' )(‘V&\\ACS
—— A AYOVL {

v 24 2x-8=0
(X +4)(x-2) =0
X=-Y x=1
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Ex#3: Solve

IxEex <15 <0

2x% +x<15

2%y -15 = O
(9;(—5\@ 13)=0.

Y= %=-3

—

Pl

[16(3%7]

\

-3

'5lz
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Ex#4: Solve 3xZ+5>6x
2 < !
L =[x +5> 0O
9y -bxt5 =0 | N
B =4(3X5) \
36-L0 o ! :
2 complax. Sol. |
No Y-nt.

>
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